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’ 100kN/mM%#BZ % -l -~ - -|3mEBZB| - ~ - - -| 100kN/mM%E#B 2% - -~ - ~-|3mZEiBZ5 -~ - - -
ZTh st 1.00/ 000 ~ 457 56.93| #hLlst |000 ~ 457| 1.89 10.13 Zh st 1.00] 500 ~ 500 56.93| #hLlst | 500 ~ 500| 1.89 10.13
5 100kN/mM%#BZ % -l -~ - -|3mEBZB| - ~ - - -| 100kN/mM%E#B 2% - -~ - ~-|3mZEBZD -~ - - -
ZTh st 1.00/ 000 ~ 657 82.85| #hList | 000 ~ 657| 1.95 10.43 Zhst 1.00] 500 ~ 854 8285| #hLlst | 500 ~ 854 1.95 10.43
3 100kN/mM%#BZ % - -~ - -|3mZEiB =% -~ - - -| 100kN/mM%#% % - -~ - -[3m%E#BZ B -~ - - -
ZTh st 1.00/0.00 ~ 7.09 90.06] #hList | 000 ~ 7.09| 255 13.65 ZTh LS 1.00] 500 ~ 10.87 90.06] #h L4t | 500 ~ 10.87| 255 13.65
4 100kN/m%#8 2% 1.00/ 000 ~ 0.14 102.05|3m#%E#ZB| - ~ - - -| 100kN/mM%E#B 2% 1.00| 10.60 ~ 10.96 102.05|3m%# 2% -~ - - -
ZTh st 1.00/0.14 ~ 792 100.00| #hLlst [000 ~ 792 225 12.02 ZTh s 1.00] 500 ~ 10.60 100.00| #hklst | 500 ~ 1096 2.25 12.02
5 100kN/m%#B% % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - ~-[3m%Ei#Bx 5 -~ - - -
ZThLst 1.00/ 000 ~ 7.39 94.30] #hbList | 000 ~ 7.39| 248 13.27 ZTh LS 1.00] 500 ~ 10.95 94.30] #h L4t | 500 ~ 1095| 248 13.27
6 100kN/m%#BZ % - -~ - -|3m%EiEZ S -~ - - -| 100kN/mM%#% % - -~ - ~-[3m%Ei#BZ B -~ - - -
ZThLst 1.00/ 000 ~ 3.74 4713 #hLis [000 ~  3.74] 215 11.48 ZTh LS 1.00] 500 ~ 502 4713 #hklst | 500 ~ 502 215 11.48
100kN/mM%#BZ % ~ ImEHEZD ~ 100kN/m%Z#8 % % ~ ImEBZS ~
ZTh st ~ ZNLS ~ Zh LS ~ ZN LS ~
100kN/m%#BZ % ~ ImEHEZD ~ 100kN/mZ#BZ % ~ ImEBZS ~
ZTh st ~ ZNLS ~ Zh LS ~ ZNLS ~
100kN/m%#BZ % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZThLlst ~ ZHLS ~ ZTh LS ~ ZN LS ~
100kN/m%#B% % ~ 3ImEHEZD ~ 100kN/mZ#B 2% ~ ImERZS ~
ZTh st ~ ZNLS ~ ZTh LS ~ ZHN LS ~
100kN/m#%#BZ % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZThLst ~ ZNLS ~ ZTh LS ~ ZN LS ~
100kN/m%#BZ % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZThLlst ~ ZNLS ~ Zh LS ~ ZN LS ~
100kN/m%#BZ % ~ ImEHEAD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZTh LSt ~ zh st ~ Zh st ~ ZNLS ~
100kN/mM%#B% % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZTh st ~ zh st ~ Zh st ~ ZNLS ~
100kN/mM%#B% % ~ ImEHEZD ~ 100kN/mZ#B 2% ~ ImEBZS ~
ZhLlst ~ Zh LS ~ Zh LS ~ st ~
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